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WME=TH M E-AAE 2,867 2,340 2,561 4,901
AIE—TH [E &F % 1,848 1,821 2,072 3,893
(KEF—TH |AHa- AHm 2,121 1,771 1,785 3,556
KEF_TH |AHa- AR 2,287 1,980 1,840 3,820
KEF=T 8 |AHa AHmH 2,124 1,777 1,594 3,371
(KRG AB— ] H| A7 ASTHF 2,380 2,289 2,290 4579
KHFE—T B |AGE W A 1,465 1,551 1,385 2,936
RHFE_TH |AGE 5 A 2,349 2,413 2,259 4,672
EHE—TH |5 &-F ® 2530 1,961 2419 4,380
= fr EEHT - A DGR - = 7 3,114 2,673 3,019 5,692
FE—TE DA ADIR K 1,815 1,472 1,637 3,109
FEZTH FEOA-ZX O 2,092 1,717 1,813 3,530
FE=TH FEOA-ZX O 1,818 1,663 1,770 3,433
Bt E—TH [AHE-FT & 1,934 2,085 2107 4,192
MHE—TH [ADAR-B & 2,784 2,603 2,712 5315
REARATH [AHER-T & 1,838 1,927 1,984 3911
EFER—1TH | A F & 1,492 1,329 1,608 2,937
BFR_JTH |E &8 F & 809 849 957 1,806
MTER=TH | & F X 1,592 1,475 1,546 3,021
FEANT H B SA-ah F 2,399 2,321 2,267 4,588
BEEA_T1H |& 0= & 1,386 1,106 1,370 2,476
BEEANTH [ B2 & 977 902 1,044 1,946

EXRTH |[ANER-F & 1,026 1,155 1,255 2,410
EAKIKHET HERG = & 1,338 1,212 1,382 2,594
A — T H |[fit & EHE 2,751 2434 2457 4,891
FEA_—TH |/ H-5HE 2,745 2,248 2,186 4434




